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IIepeamoBa

HopmatuBHa  jmucuuiuiiHa — ,,AHTIIHCEKa  MOBa”  BIIHOCHUTBCS [0
I'YMaHITApHOTO IHUKJIY OCBITHBO-KBami(iKalllfHOrO piBHA OakamaBp 1 €
CKJIaIOBOIO YaCTHHOIO 3arajJbHOOCBITHROI MiAroToBKU cTyaeHTiB OJJEKY.

[TpakTH4He BOJOIIHHS AHTIIHCHKOIO MOBOIO MpH 3a0uHid (HhopMi HaBUAHHS
O3HA4Ya€ BMIHHS CAaMOCTIMHO 3a JOIOMOTOIO CIIOBHHWKA YHWTATH JIITEpATypy 3a
(dhaxoM aHTIIMCHKOIO MOBOIO, 3HAXOJUTH KOPUCHY JJi1 poOOTH 1HGOpMaIlilo, a
TaKOX MEePEeKIagaTH TEKCTH 3a (paxoM piHOIO MOBOIO.

MeTor0 3anmporOHOBAHUX METOJUYHUX BKa31iBOK JUJISi CaMOCTIMHOI poOoTu
crynentiB (CPC) Ta HaBUabHOTO MaTepially 3 aHIIICHKOT MOBH JIJISl CTY/ICHTIB
II kypcy 3a0uHO1 POPMHU HaBUAHHS, HANIPSM MIATOTOBKU — “T1APOMETEOPOJIOTis”,
cremiaiizamis — ,,I1JIpoJIoTis Ta TApOoXiMIA’ €:

— BUPOOUTH y CTYACHTIB HABUYKM YUTAHHS Ta MEpPEKIay HayKOBO-
TEXHIYHOI JIITEpaTypH aHTJIHCHKOI0 MOBOIO 32 (haxoMm “TiapoJioris’;

— PO3BUHYTH BMIHHSI PO3YMITH 3MICT POUYUTAHOTO;

— BHUPOOUTH HABWKM ITIOCTAHOBKH 3allUTaHb JI0 TEKCTY aHTJIIHCHKOIO
MOBOIO;

— MATOTOBUTHU CTYJEHTIB JIO CKJIaJIaHHS 1CTIUTY 3 aHTJ1HCHKOI MOBH.

Hapuansna mporpama mis crynentiB Il kypcy 3aounoi gopmu HaBUaHHS
po3paxoBana Ha 80 rogun CPC Ta Ha 6 roiuH ayAUTOPHOI poOOTH.



3MICT PO3A1L1Y

Beryn

B yMoBax 3Ha4HOTO pO3MIMPEHHS MIKHAPOJAHUX 3B'SI3KIB YKpaiHU 3HAHHS
1HO3EMHHUX MOB CHEIIaJICTAMHU PI3HUX Tally3el Hayku HaOyBarOTh OCOOJIMBOIO
3HayeHHs. OfHE 3 TOJIOBHUX 3aB/aHb SIK€ CTABUTHCS MEpe] CTYACHTaMU BUIIUX
3aKJIaJiB OCBITH YKpAiHU € MPAKTUYHO - KOMYyHIKaTUBHE BOJIOIHHS 1HO3EMHOIO
MOBOIO Ha mpodeciiiHoMy Ta moOyTOBOMY piBHSAX. B mpoliieci mpakTHYHOTO
BOJIOIHHSI 1HO3EMHOIO MOBOIO OCHOBHHI HAroJoc poOUTHCS HA YCHE MOBIICHHS
K OCHOBHY BUXOBHY (hOpMYy MOBJIEHHEBOI JisIbHOCTI. [TuchbMOBE MOBIIEHHST —
YUTAHHSAM 1 TUCBMOM CTYAEHTH OBOJIOJIBAIOTH BXKE Ha 0a3l 3aCBOEHOTO YCHOIO
MOBJICHHSI. YCHE MOBJICHHS € HE TUIBKM METOIO0 HaBYaHHS, aJle € 3aco00M
JOCATHEHHS 111€1 METH.

HaBuanHs yciM BUJIlaM MOBIIEHHEBOI JIISTTBHOCTI BEIEThCSI KOMIUIEKCHO. Y Cl
BIJIOMOCTI TEOPETUYHOTO XapakTepy 3 (OHETUKM™ TEXHIKM YWUTAHHA Ta
nepeKIaay, rpaMaTUKH JAlThCs B MPOILECl MPAaKTHYHOI poboTh B 00'emi
noTpiOHOMY 7151 HAOYBAaHHS CTYJIEHTAMHU BIIMOBIIHUX YMiHb 1 HABUYOK.

3HayHa yBara B HaBYAJBHOMY TIPOIIECI BIIPOJOBXK BCHOTO KYypCy
MPUIIAETHCS B IOCTAaHOBIII BUMOBH, OCOOJIMBO 1HTOHAIIII.

I'pamamuuna cucmema 1HO3eMHOI MOBU 3aCBOIOETHCS CTYACHTAMU 32
JIOTIOMOTOI0 TpaMaTUYHHUX CTPYKTYp ycHoro i mmcbmoBoro MOBJIEHHA.
[Topsimok TOMaHHS TpPaMAaTHYHWUX CTPYKTYp BHU3HAYAETHCS TOCIIIOBHICTIO
MOCTYIIOBOTO YCKJIQJIHEHHSI MaTrepiaily 1 3aJeKHOCTI HOro Bij MONEPEIHbBOTO
Marepiany.

Jlexcuka - c10Ba, CIOBOCIIOJIYUYEHHS 1 BUPA3H 3aCBOIOIOTHCS B MOBJICHHI B
iX IPUPOAHOMY MaTepiai.

BinbHe crniikyBaHHS 1HO3€MHOIO MOBOIO MOMXKJIMBO JIMIIE KOJHM CTYJIEHTH
OyIyThb MUCTUTH 111€10 MOBOIO. TOMY pO3BUTOK MHCIIEHHSI 1HO3E€MHOIO MOBOIO €
BaXUIMBUM 3aBJAaHHSAM IPAKTHYHOTO KYpCy, IO 3a0€3MeUyeThCsl YUCICHHUMU,
PI3HOMAHITHUMH MOBHHMMHU OPUTTHAJIBHUMHU BIPAaBaAMH 1 CTBOPEHHS MOBHOI
aTMoc(epH Ha 3aHATTIX 1032 AyAUTOPHUH Yac.

3uannsn:

e BUMOBHM YCiX 3BYKIB aHIJIIHCbKOI MOBM Ha pPIBHI KOMYHIKaTUBHOI
JOCTATHOCTI (piBeHb PO3OIPJUBOCTI I YCHOIO CHIJIKYBaHHS) Ta
OCHOBHHMMH 1HTOHAIlIHHUMHU MOJCISIMU;



3aKOHOMIPHOCTEH aHTJIHAChKOI MOBHM Yy CIIIBCTABJICHHI ii 3 JIUIIOBOIO
YKPaTHCHKOIO MOBOIO;

dboHEeTUYHOTO, rpaMaTHUYHOTO, JIEKCUYHOTO, MOpP(}OJIOTIYHOTO,
CHHTAKCUYHOTO MIHIMyMy IIiepea0adeHoro ImporpaMmor  kadeapu
iHo3emMHuX MOB OJIEKY 3 aHrmilichbKkoi MOBH.

Bminnsa:

BecTH Oecily Ha OCHOBI THUIIOBMX CHUTYaIllil MIJIOBOTO CIIJIKYyBaHHS, Y
3B'SI3KY 3 MPOYUTAHUM a00 IPOCITYyXaHUM;

pOOMTH TIOBIJIOMJICHHSI Ha OCHOBI THIIOBHX CHUTyaIlli J1JIOBOTO
CHUIKYBaHHSA, a TaKOXX BHUCJIOBIIOBATUCS 3 TPUBOAY IPOYUTAHOTO abo
IIPOCIYXaHOTO;

CaMOCTIMTHO 4WTaTh (31 CIOBHHUKOM) CYCHUIbHO-TIOJITUYHI, HAyKOBO-
NOMYJISIPHI TEKCTH, a TAKOX 3a (PaxOBY JITEPATYPY;

CIpuUiMaTH Ha CIyX IpH 0e3M0CepEeTHHOMY CIIIKYBaHHI Ta Y 3BYKO3aIUCy
TEKCTH MO0Y/I0BaHI B OCHOBHOMY Ha 3aCBOEHOMY MOBHOMY Marepiaji.

Cmpykmypa oucyuniinu ,, Aneniticeka mosea". Po3noain rpaMaTuiHoro 1

JIEKCUYHOTO MaTtepialy B MEXaX CEMECTPY, KUIBKOCTI TOJIMH, SIKI HEOOX1IH1 ISt
3aCBOEHHS TEBHMX TpaMaTUYHUX 1 JIGKCHYHUX TEM CTYIASCHTAaMH 3a09YHOTO
BimmineHHs: 11 kypcy, Bu3HauaeTbcs Kadeaporo 1HO3EMHHUX MOB y poOOUYHX
HaBUYaJbHUX IJJaHAX Ha OCHOBI MPOTpaMH 3 1HO3EMHHUX MOB. BHBYEHHS Kypcy
po3paxoBaHe Ha 86 rojuH, i3 HUX 6 TOJUH ayAUTOPHUX 3aHATh, 80 TOAWH Ha
CaMOCTIHY pOOOTY CTY/I€HTIB.

JIns BUKOHAHHS KOHTPOJBHUX pOOIT Tpeba BUBUMTH Taki Temu II xypcy
3a049HOi (JOpMU HABUAHHS:

1.
2.
3.

Oco6muBocTi yMOBHUX pedeHb B aHTiichbKii MoBi (I, I1, I1I TumiB pedens).
[HO1HITUB Ta JIENPUKMETHUK, 1X CKIIaH1 (hOPMH.

3BOpoTH, SAKI PIBHO3HAYHI  JOJATKOBUM  PEUYCHHSIM:  OO0'€KTHHI
1H(IHITUBHUH,

y0'eKTHUI 1H(]1HITUBHUH, HE3aJIC)KHUHN (camocCTiiHMIMA
JIEMPUKMETHUKOBUN 3BOPOT).

I'pamarnuni ¢pyskiii giecais should i would.

3BOpPOTH 3 1IH(PIHITUBOM, JIIENPUKMETHUKOM 1 T€PYH/IEM, SIKI PIBHO3HAUHI
pedenHsaM noxarkoBuM Pi3ni 3nauenns cimis: only, both ...and, eith er... or,
neither...nor, as. CamMoCTIiHUI TTepeKIa] CyCHIbHO-TIOJITHYHOTO TEKCTY
-- 5.000 mpykoBaHUX 3HAKIB.

Pi3ni 3HaueHHs ciiB: because of, or, since, due, provided.



CamocTiiHUM TIepeKkIia]l CycmuibHO-modiTHYHOr0 TekcTy -- 10.000
JIPYKOBaHUX 3HAKIB, CAMOCTIMHHMI mepeknan TekcTy 3a (axom — 10.000
JPYKOBaHUX 3HAKIB.

OPTAHIBAIIIA TIOTOYHOI'O TA IIICYMKOBOI'O
KOHTPOJIIO 3HAHb

Kontponbna pobota Ne2 nependadae koutposnb CPC. KoxHuit 3 4oTUpbhOX
BapiaHTIB KOHTPOJBHOI poOoT NeZ2 MICTSATH OpHUTIHANBHI TEKCTH 3a (axom
,, T1IPOJIOTIS”, sIK1 OyJM y3S5ITI 3 Cy4acHOI aHTJIKACHKOI TEXHIYHOI JITepaTypH;
rpaMaTU4Hl BIOpPaBU JJII CTBOPEHHS HABUYOK BOJIOAIHHS BU3HAYECHUMHU
rpaMaTUYHUMH KOHCTPYKIISMH.

Kontponbna pobora Ne2 mepenbayae muCbMOBUN TEpEKIIa 3 aHTIIACHKOL
MOBHU CYCHUIBHO-TIOMITHYHOTO TeKcTy 10 THC. 1p., 3HAKIB 32 BUIbBHUM BHOOPOM
crynenta Ta 10 tuc. ap. 3H, 3a ¢paxom. [Ipu BUKOHaHHI KOHTPOJILHOT pOOOTH CJIijT
KOPHCTYBATHUCS 3araJIbHUMU Ta CIIEIaTi30BaHUMH MEePEKIaTHUMU CIIOBHUKAMH.

[loTouna Ta mWIACYyMKOBa OIlIHKA 3HaHb CTYAEHTIB 3IACHIOETHCS 3a
MOJAYJIbHO- HAKOMUYYBAJIbHOI CUCTEMOI0. MiHIManbHa cyMa OaliB, sIKy MOXe
HaOpartu cTyneHt, ckiaagae 100 6ainiB, 3 HUX 32 KOHTpoOJIbHY poboTty — 80 6autis, 3
npakTuaHoi yactuHu — 20 Oais.

KontponasHa pobGora ckiamaetbes 3 10 3aBmanb. KokHe 3aBmaHHS
OIIHIOETHCS KIJIBKICTIO B 3aJIEKHOCTI B1J HOT0 CKJIQAHOCTI: 13aBmaHHsa — 5 OalB;
2 3aBnaHHsg — 5 O0aniB; 3 3aBHaHHs — 6 0aiiB; 4 3aBAaHHsA — 6 OajiB; 5 3aBJaHHS —
11 GaniB, 6 3aBmanug — 12 GamiB, 7 3aBmanug — 13 Oanis, 8 O6aniB — 8 Oaimis, 9
3aBgaHHg — 8 OamiB, 10 3aBmanHs — 6 3aBmaHHsA. Ycworo — 80 Oams. Bona
3apaxoBY€THCA, SKIIO CTYICHT OTpUMaB He MeHIe HixK 40 OGais.

Hakonnuena migcymkoBa oiiHka (710) (3aCBO€HHSI CTYyJI€HTOM 3a04HOI
(dbopMu HaBYaHHS HABUAIBHOI JUCIHUILTIHU) PO3PAXOBYETHCS AJISL JUCIUILIIH, 1110
3aKIHUYEThCS 3aJIIKOM 3a:



IO = 0,5 (O3E + OM),
ne:

O3E - xinbKicHA OIlIHKA (Y BIJICOTKAX BI1J MaKCMMaJIbHO MOYKJIMBOI) 3aXO0/IiB
koHTpoto CPC mijg yac mpoBeIeHHS ayAMTOPHUX 3aHSTh;

OM - xinbKicHa oliHKa (y BIJICOTKAxX TiJ] MaKCMMaJIbHO MOXKJIMBOI) 3aXO/iB
koHTpomo CPC y mixkceciiHUN TIepioz.

[TiICyMKOBUM KOHTPOJIEM € 3aliK, SKWAW TMOJISArae B OIHI[l 3aCBOEHHS
CTYJIEHTOM HaBYAJILHOTO MaTepiany (BMiHb Ta HABUYOK) BUKIIFOYHO HA TICTaBl
KUIBKICHOT OIIIHKM PE3yJIbTaTiB BUKOHAHHS HUMHU BUJIB POOIT Ha ayJAUTOPHUX
3aHATTSX, TIepe10adyeHnX poOOUOI0 HABYAIBHOIO MPOTPaMOI0 JUCIUILTIHY Ta 32
YMOBU BHUKOHAHHSI MDKCECIHHOI KOHTPOJBHOI pPOOOTH Ta aygUTOPHOTO
ONUTYBaHHS He MeHIe Hixk Ha 60% 3a K0oXKeH 3 BUIIB 3aHSTh.

[kana nepexoay BiJ OLIHKK HOTOYHOIO

KOHTPOJIIO JIO MiJCYMKOBOI OILIIHKH

[aTerpanpHa cyma GaniB SIxicHa oriHKa 3 3aJiKy
<60% BiJl MAKCHM. MOXJIHBOT HE 3apax0BaHO
>60% B1J MAKCUM. MOKJIUBOI 3apaxoBaHO

OPT'AHIBAIIA TIPAKTUYHUX 3AHATDH

[Ticns mpakTUYHUX MOMAYJIB CTYICHTH MOBUHHI OBOJIOJMITH HACTyIMHUMHU
0a30BUMU SMIHHAMU MA 3HAHHAMU.

- OXapaKTepu3yBaTH YMOBHHM CIIOCIO B aHTIIIMCHKINA MOBI;



- TIOSICHUTH CTPYKTYpPY Ta OCOOJMBOCTI BXKHBAHHS TPHOX THUIIB pEeYCHb B
YMOBHOMY CITOCO001;

- MMOSICHUTY BXKUBaHHA 1H(IHITHBA Ta HOTO (POPM B aHTIIIMCHKIN MOBI;

- IOSICHUTH BXKMBAHHS JIENPUKMETHUKOBUX 3BOPOTIB B aHTJIHCHKINA MOBI;
- YUTaTH, MEPEeKIaIaTH Ta MepeKa3yBaTH TEKCTH CYCIHUTLHO-TIOITUIHOI
TEMaTHKHU;

- YUTATH, IEPEKIIaZIaTH Ta IepeKa3yBaTH TEKCTU 3a (DaxoM.



KOHTPOJIBHE 3ABJIAHHS Ne 2

[Ilo6 BipHO 3poOuTH 3aBmaHHs Ne2, Tpeba 3acBOITH PO3ILIH KypCy
aHTJIACHKOT MOBH:

1. YMOBHI peUeHHS.
2. Cknagni ¢popmu iHGIHITHBA Ta JTI€ENPUKMETHHKA.
3. 3BOpOTH, SKI PIBHO3HAYHI JOJATKOBUM pEUEHHSM: 00 €KTHHMA

1H(}1HITUBHUH, YO’ €KTHUM 1HOIHITUBHHUHN, HE3AIC)KHUHN (CaMOCTIMHUI)
J1E€NPUKMETHUKOBUI 3BOPOT.
4, I'pamaTuuni ¢yskuii giecais should, would.

S. 3BOpOTH 3 1H(IHITUBOM, [IENPUKMETHUKOM 1 TEpyHIIEM, SKi
PIBHO3HAYHI JJOJJATKOBUM PEUYEHHSIM.
6. Pi3ni 3Hauenus ciis: only, both...and, either...or, neither...nor, as,

because of , for, since, provided.

BAPIAHT Ne 1

l. 3po0iTh NMCHbMOBHII NEPEKIA] TEKCTY:

Text INFILTRATION

Infiltration is the process by which water on the ground surface enters the
soil. Infiltration rate in soil science is a measure of the rate at which soil is able to
absorb rainfall or irrigation. It is measured in inches per hour or millimetres per
hour. The rate decreases as the soil becomes saturated. If the precipitation rate
exceeds the infiltration rate, runoff will usually occur unless there is some
physical barrier. It is related to the saturated hydraulic conductivity of the
nearsurface soil. The rate of infiltration can be measured using an infiltrometer.

Infiltration is governed by two forces: gravity and capillary action. While
smaller pores offer greater resistance to gravity, very small pores pull water
through capillary action in addition to and even against the force of gravity.

The rate of infiltration is affected by soil characteristics including ease of entry,
storage capacity, and transmission rate through the soil. The soil texture and
structure, vegetation types and cover, water content of the soil, soil temperature,
and rainfall intensity, all play a role in controlling infiltration rate and capacity.
For example, coarse-grained sandy soils have large spaces between each grain and
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allow water to infiltrate quickly. Vegetation creates more porous soils by both
protecting the soil from pounding rainfall, which can close natural gaps between
soil particles, and loosening soil through root action. This is why forested areas
have the heist infiltration rates of any vegetative types.

The top layer of leaf litter that is not decomposed protects the soil from the
pounding action of rain, without this the soil can become far less permeable. In
chaparral vegetated areas, the hydrophobic oils in the succulent leaves can be
spread over the soil surface with fire, creating large areas of hydrophobic soil.
Other conditions that can lower infiltration rates or block them include dry plant
litter that resists re-wetting, or frost. If soil is saturated at the time of an intense
freezing period, the soil can become a concrete frost on which almost no
infiltration would occur. Over an entire watershed, there are likely to be gaps in
the concrete frost or hydrophobic soil where water can infiltrate. Once water has
infiltrated the soil it remains in the soil, percolates down to the ground water table,
or becomes part of the subsurface runoff process.

Il. JlaiiTe nMcbMOBY BiANOBiAb HA TAKi 3AIIUTAHHSA:

What is infiltration rate in soil science ?

When does the infiltration rate decrease ?

What is infiltration governed by ?

What plays a role in controlling infiltration rate and capacity ?
What conditions can lower or block infiltration rates ?

AN

I1l.  3pobiTs nucbMOBUI NEPEKJIAT TEKCTY:

Text WATER CYCLE

Groundwater makes up about twenty percent of the world’s fresh water
supply, which is about 0.61% of the entire world’s water, including oceans and
permanent ice.

Groundwater is naturally replenished by surface water from precipitation,
streams, and rivers when this recharge reaches the water table. It is estimated that
the volume of groundwater comprises 30.1% of all freshwater resources on earth
compared to 0.3% in surface freshwater; the icecaps and glaciers are the only
larger sources of fresh water on the earth at 68.7%.
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Groundwater can be a long-term ‘reservoir’ of the natural water cycle (with
residence times from days to millennia), as opposed to short-term water reservoirs
like the atmosphere and fresh surface water (which have residence time from
minutes to years). The figure shows how deep groundwater (which is quite distant
from the surface recharge) can take a very long time to complete its natural cycle.

The Great Artesian Basin in central and eastern Australia is one of the largest
confined aquifer systems in the world, extending for almost 2 million km2. By
analysing the trace elements in water sourced from deep underground,
hydrogeologists have been able to determine that water extracted from these
aquifers can be more than 1 million years old.

By comparing the age of groundwater obtained from different parts of the
Great Artesian Basin, hydrogeologists have found it increases in age across the
basin. Where water recharges the aquifers along the Eastern Divide, ages are
relatively young. As groundwater flows westward across the continent, it
increases in age, with the oldest groundwater occurring in the western parts. This
means that in order to have travelled almost 1000 km from the source of recharge
in 1 million years, the groundwater flowing through the Great Artesian Basin
travels at an average rate of about 1 metre per year.

IV. TlocraBTe nMcbMOBO II’ATH 3aNUMTAHB 10 TEKCTY Y BUIJISIAI IJIAHY.

V. IlepenumiTh Ta NHCbMOBO NMEPEKJIANITh HA YKPAIHCbKY MOBY
HaBe/JleHI HU/KYe peYeHHs, 3BePTA04YH YBary Ha Te, 110
00’ €KTUBHUI Ta cy0’€KTUBHMHU IHQIHITUBHI 3BOPOTH

BiAMOBIAAI0TH 10IaTKOBUM PE€YEHHAM:

1. Everyone wanted him to win the competition.

She advised me to tell the police about the accident.

3. The scientists believe the total quantity of water on and around the Earth
to have been more or less uniform throughout geologic time.

4. Some of the water precipitated on all land surfaces is assumed to come
from local sources.

5. The amount of water vapour in the atmosphere is observed to be
continually changing.

6. The engineer expected the work to be done in time.

no
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7.

VI.

o

We thought these figures to be absolutely wrong.

IlepenuuiiTs Ta NMCHMOBO MEPEKJIANAITH HA YKPAIHCbKY MOBY
HaBe/eHI HUKYe PeYeHHsl, 3BePTAI0YH YBAry Ha BIAMiHHICTD Y
NepeKJIa/l 3aJeKHOr0 Ta He3aJIeKHOI0 JIENPUKMEeTHUKOBHX
3BOPOTIB:

The velocity of flowing water depends upon the slope and character of its
channel.

Being cooled water becomes ice.

Having great areas the oceans are principal sources of the atmospheric
water.

The water having been precipitated to the earth, part of it enters the
ground.

The lakes had no outlet, their inflow evidently being lost by percolation.
With the weather being windy, we did not risk to cross the river.
Computers represent a completely new branch of science, the first of them
having appeared not so long ago.

VIl. TlocraBTte aieciaoBa y Qy:KKax y HeoOXiTHOMY 4aci, MMCbMOBO

o0k wWNE

NnepeKyIaliTh YMOBHI PeYeHHS:

If I am going to be late, I (let) you know.

If you took more exercise, you (feel) healthier.

It would be useful if you (can use) computer.

If I (to know) your number, | would have phone you.

We wouldn’t mind living in London, if the weather (be) better.
If he spoke clearly, people (understand) him.

VIII. IlepenumiiTh T2 NUCHMOBO NMEPEKJIATITH HA YKPATHCHKY MOBY

=

LD

HaBe/JeHi HUKYe PeYeHHsI, 3BePTA0YH YBAT'Y HA Pi3Hi 3HAUCHHA
aiecais should, would :

Many of the modern achievements in hydrology would be quite
impossible without computers.

These parts should be subjected to X-ray examination.

If there were no water cycle, there would be no rains.

The engineers would soon obtain better results, since they use a computer.
| should like to go away for the weekend.

12



6.

7.

IX.

NS -

~N o

o N oo

XI.

The engineer said that he would take the hydrological readings every two
hours.
It was decided that the matter should be referred to a special committee.

IlepenuiiTs Ta NMCHMOBO MEPEKIAAITH HA YKPAIHCHKY MOBY
HaBe/leHI HUKYe PeYeHHsl, 3BePTAI0YH YBAry Ha Te, 10
iH(IHITHBHI Ta TiENPUKMETHUKOBI 3BOPOTH HaifyacTile
BiANOBIZAAI0TH 10JAaTKOBUM PEeYEHHAM:

The problem to be solved is rather difficult.

The substance being heated, the motion of the molecules increases.

To separate a compound into its elements, chemical means must be used.
Specialists wanted the unknown element to be analysed and tested.

The electrons move with various speed, they velocity depending on the
temperature and nature of material.

The sun is known to be source of heating.

The technology to be applied greatly improves the quality of water.
Having added the heat we could change the state of a substance.

IepenuuiTh Ta NMCHbMOBO NEPEKJIAAITH HA YKPAIHCHKY MOBY
HaBe/JleHi HUKYe PeYeHHsl, 3BePTAYH YBAT'Y HA Pi3Hi 3HAUECHHA
BHM/IJIEHUX CJIiB:

Both magnetic and gravity measurements were made at various periods
during the summer.

Because of the danger of radiation one must take safety measures.
Provided we place the hydrometer in the ship with the thermometer it
changes its position and consequently its reading.

Hydro-electric stations generate electrical power for industry as well as
for everyday life needs.

The appearance of new materials is due to the achievements of chemistry.
The mixing of water can either be lateral or vertical.

As winter approached, the days become shorter.

He had to work hard for not to fail in his exam.

Iepexkaanits 10 THC. 3H. CYCHiJILHO-TIOJITHYHOTO TEKCTY.

XIl. Hepexaaairs 10 THc. 3H. TekcTy 32 (axX0BOI TEeMATHKOIO
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BAPIAHT Ne 2

l. 3po0iTh NMCHbMOBH MEPEKIA TEKCTY:

Text SURFACE RUNOFF

Surface runoff is the water flow which occurs when soil is infiltrated to full
capacity and excess water, from rain, snowmelt, or other sources flows over the
land. This is a major component of the water cycle. Runoff that occurs on surfaces
before reaching a channel is also called a nonpoint source. If a nonpoint source
contains man-made contaminants, the runoff is called nonpoint source pollution.
A land area which produces runoff draining to common point is called a
watershed. When runoff flows along the ground, it can pick up soil contaminants
such as petroleum, pesticides (in particular herbicides and insecticides), or
fertilizers that become discharge or nonpoint source pollution.

Surface runoff can be generated either by rainfall or by the melting of snow
or glaciers.

Snow and glacier melt occur only in areas cold enough for these to form
permanently. Typically snowmelt will peak in the spring and glacier melt in the
summer, leading to pronounced flow maxima in rivers affected by them. The
determining factor of the rate of melting of snow or glaciers is both air temperature
and the duration of sunlight. In high mountain regions, streams frequently rise on
sunny days and fall on cloudy ones for this reason.

In areas where there is no snow, runoff will come from rainfall. However, not
all rainfall will produce runoff because storage from soils can absorb light
showers. On the extremely ancient soils of Australia and Southern Africa,
proteoid roots with their extremely dense networks of root hairs can absorb so
much rainwater as to prevent runoff even when substantial amounts of rain fall.
In these regions, even on relatively less infertile cracking clay soils, high amounts
of rainfall and low potential evaporation are needed to generate any surface
runoff, leading to specialised adaptations to extremely variable (usually
ephemeral) streams.

Infiltration excess overland flow. This occurs when the rate of rainfall on a
surface exceeds the rate at which water can infiltrate the ground, and any
depression storage has already been filled. This is called infiltration excess
overland flow. This more commonly occurs in arid and semi-arid regions, where
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rainfall intensities are high and the soil infiltration capacity is reduced because of
surface sealing, or in paved areas.

After water infiltrates the soil on an up-slope portion of a hill, the water may
flow laterally through the soil, and exfiltrate (flow out of the soil) closer to a
channel. This is called subsurface return flow or interflow.

As it flows, the amount of runoff may be reduced in a number of possible ways:
a small portion of it may evapotranspire; water may become temporarily stored in
microtopographic depressions; and a portion of it may become run-on, which is
the infiltration of runoff as it flows overland. Any remaining surface water
eventually flows into a receiving water body such as a river, lake, estuary or
ocean.

Il. JlaiiTe nMcbMOBY BiANOBiAb HA TAKi 3AIIUTAHHSA:

What is a major component of the water cycle ?
What is a nonpoint source pollution ?

What do we call infiltration excess overland flow ?
When may the water flow laterally through the soil ?
What are the possible ways of runoff reduction ?

ok~ wWNE

I11.  3pobiTh nucbMOBMII MEpeKJIa] TEKCTY:

Text OVERDRAFT

Groundwater is a highly useful and often abundant resource, however over-
use or overdraft can cause major problems to human users and to the environment.
The most evident problem (as far as human groundwater use is concerned) is a
lowering of the water table beyond the reach of existing wells. Wells must
consequently be deepened to reach the groundwater; in some places (e.g.,
California, Texas and India) the water table may, in turn, cause other problems
such as subsidence and saltwater intrusion.

Groundwater is also ecologically important. The importance of groundwater
to ecosystems is often overlooked, even by freshwater biologist and ecologists.
Groundwaters sustain rivers, wetlands and lakes, as well as subterranean
ecosystems within karst or alluvial aquifers.
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Not all ecosystems need groundwater, of course. Some terrestrial ecosystems,
for example those of the open deserts and similar arid environments, exist on
irregular rainfall and the moisture it delivers to the soil — supplemented by
moisture in the air. While there are other terrestrial ecosystems in more hospitable
environments where groundwater plays no central role, groundwater is in fact
fundamental to many of the world’s major ecosystems. Water flows between
groundwaters and surface waters. Most rivers, lakes and wetlands are fed by, and
(at other places or times) feed groundwater — to varying degrees. Groundwater
feeds soil moisture through percolation, and many terrestrial vegetation
communities depend directly on either groundwater or the percolated soil
moisture above the aquifer — for at least part of each year. Hypothetic zones (the
mixing zone of streamwater and groundwater) and riparian zones are examples of
ecotones largely or totally dependent on groundwater.

When we extract groundwater linked to a river system, we extract water from
that river, even if the result is not evident for some time. And of course vice versa.
Water management agencies around the world are still struggling to come to terms
with this simple fact.

IV. IlocTaBTe NUCHMOBO II’SITh 3AIIUTAHD /10 TEKCTY Yy BULJIS/I IJIAHY.

V. Ilepenumith Ta NUCHMOBO NepPeKJIANITh HA YKPAiHCbKY MOBY
HaBeJeHI HM)KYe PpeYeHHs, 3BePTAa4Yd YyBary Ha Te, MIO
00’€KTUBHUM Ta cy0’€KTUBHMH iH(IHITUBHI 3BOPOTH BillIOBIAA0TH
NO0JATKOBUM PEYCHHSAM:

1. The scientists believe the total quantity of water on and around the earth to
have been more or less uniform throughout geologic time.

2. We suppose this approach to the problem to be absolutely incorrect.

3. The total amount of water in and on the earth is believed to remain
essentially constant.

4. Precipitation is likely to increase with altitude up to about 3,000 feet.

5. Marine navigation is known to be one of the most important subjects for
mariners.

6. The chief expected him to prepare a report on possible demand.

7. They are known to apply mathematical techniques to the study of problems
in business.
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8. We know the earth’s crust to be constantly changing.

9. Greater solar activity seems to produce lower earth temperature.

10.Heat and cold are believed to be distributed by ocean currents over
thousand of miles.

V1. IlepenuumiTh Ta NHUCbMOBO MeEpPeKJAiTh HA YKPAaiHCbKY MOBY
HaBe/JeHI HUJKYe pevYeHHs, 3BepPTAYd yBary Ha BiJMIHHICTBH y
NMepeKJaal 3aJIe’KHOT0 Ta HE3AJEeKHOr0 JIENPUKMETHHKOBHX
3BOPOTIB:

1. Having reached the earth, the precipitated water begins to accumulate
additional impurities, both soluble and insoluble.

2. Being cooled water becomes ice.

3. The rain as it falls, evaporates somewhat adding water particles to the cold
air.

4. Fog is water evenly distributed through air in minute particles.

5. The water having been precipitated to the earth, part of it enters the ground.

6. Situated on a narrow strip of land between the mountains and the sea, Rio
de Janeiro has one of the world’s finest harbours.

7. Weather permitting, we shall walk to the lakes.

VIl. TlocraBTe amieciioBa y Ay:KKax y HeoOXiIlHOMY 4aci, mMMCbMOBO
MepeKIaiTh YMOBHI peYeHHS:

=

If | meet you tomorrow, | (to tell) you everything.

If they (to leave) Bermuda in summer, they will sail north to explore the
Gulf Stream.

I would ring him up if I (to know) his number.

If they (can), they would be here.

If you (to come) home earlier yesterday, you would have found me there.
He (to be) so kind unless he had known your brother.

N

ook~ w

VIII. Ilepenumith Ta NHCHLMOBO NepekJIadiTh HA YKPaiHCbKY MOBY
HABeJeHi HUXKYe PeyYeHHs, 3BePTAYU yBary Ha pi3Hi 3HAYEHHS
aiecai should, would :

1. The weather experts said that it would rain tomorrow.
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You should stop smoking, it is so bad for your health.

Without electric equipment space flights would be impossible.

This device is automatic, but a mechanic is always available in case
anything would be wrong.

| should say nothing about it, if | were you.

Perhaps you would be kind enough to let us know about this.

As far as this research is concerned, mention should be made that it is of
great significance for our university.

IlepenuuiiTs Ta NHUCbMOBO NEPEKJIAMITH HA YKPAIHCBKY MOBY
HaBeJeHi HMKYe PeYCHHS, 3BEPTA04YH YBAry Ha Te, 10 iHQIHITUBHI
Ta JAiENPUKMETHHKOBI 3BOPOTH HaWyacTilie BIANOBIZAOTH
AOJATKOBUM PEYEHHAM:

The groundwater is said to be under artesian condition.

The velocity of flowing water depends on the slope and character of its
channel.

When fully developed, tropical storms are very dangerous.

To compute the amount of water suspended in the air one must make
observations of humidity.

We suppose this approach to the problem to be absolutely incorrect.

The amount of water vapour in the atmosphere is observed to be continually
changing.

This task is to take observations of the water quality in this lake.

The water having been precipitated to the earth, part of it enters the ground.

IlepenuumiTe Ta NHCHBMOBO MNEPEKJALITH HA YKPAIHCBKY MOBY
HABeJCeHI HU)KYE PeYeHHs, 3BEPTA0YU yBary Ha pi3Hi 3HAYEHHS
BUIIJIEHHUX CJiB:

Weather patterns have been changing recently due to the global warming
up.

Not only does water expand when it is being cooled between 4 or 0o, but
when it changes to the solid there is marked expansion.

Of the earth’s resources none is so fundamental as water.

Both groundwater and water in the rocks is mostly fresh.

The total amount of water contained in our planet is constant and can
neither be increased nor diminished.
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6. Infiltration often begins at a high rate and decreases to a much lower and
more or less constant rate as the rain continues.

Xl. TlepekaaniTs 10 THC. 3H. CYyCHIBHO - MOJITUYHOIO0 TEKCTY.

XIl. Tlepeknanits 10 THC. 3H. TEKCTY 3a (paX0OBOI0 TEMATHKOIO.

BAPIAHT Ne 3

l. 3po0iTh NMCHLMOBHIA NEPEKIA] TEKCTY:

Text EROSION

Surface runoff causes erosion of the earth’s surface. There are four principal
types of erosion: splash erosion, gully erosion, sheet erosion and stream bed
erosion. Splash erosion is the result of mechanical collision of raindrops with the
soil surface. Dislodged soil particles becoming suspended in the surface runoff
and carried into streams and rivers. Gully erosion occurs when the power of runoff
is strong enough that it cuts a well defined channel. These channels can be as
small as one centimetre wide or as large as several meters. Sheet erosion is the
overland transport of runoff without a well defined channel. In the case of gully
erosion, large amounts of material can be transported in a small time period.
Stream bed erosion is the attrition of stream banks or bottoms by rapidly flowing
rivers or creeks.

Reduced crop productivity usually results from erosion, and these effects are
studied in the field of soil conservation. The soil particles carried in runoff vary
in size from about 0.001 millimeter to 1.0 millimeter in diameter. Larger particles
settle over short transport distances, whereas small particles can be carried over
long distances suspended in the water column. Erosion of silty soils that contain
smaller particles generates turbidity and diminishes light transmission, which
disrupts aquatic ecosystems.

Entire sections of countries have been rendered unproductive by erosion. On
the high central plateau of Madagascar, approximately ten percent of that
country’s land area, virtually the entire landscape is devoid of vegetation, with
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erosive gully furrows typically in excess of 50 meters deep and one kilometer
wide. Shifting cultivation is a farming system which sometimes incorporates the
slash and burn method in some regions of the world. Erosion causes loss of the
fertile top soil and reduces its fertility and quality of the agricultural produce.

Modern industrial farming is another major cause of erosion. In some areas in
the American corn belt more than 50 percent of the original topsoil has been
carried away within the last 100 years.

The principal environmental issues associated with runoff are the impacts to
surface water, groundwater and soil through transport of water pollutants to these
systems. Ultimately these consequences translate into human health risk,
ecosystem disturbance and aesthetic impact to water resources. Some of the
contaminants that create the greatest impact to surface waters arising from runoff
are petroleum substances, herbicides and fertilizers.

Il. [laiiTe nHCLMOBY BiANOBiIb HA TaKi 3aNIUTAHHS:

1. What are splash and gully types of erosion?

2. What are sheet and stream bed types of erosion?

3. What does erosion cause?

4. What are the principal environmental issues associated with?

I11.  3pobiTh nucbMOBMI MEpeKJIa] TEKCTY:

Text SUBSIDENCE

In its natural equilibrium state, the hydraulic pressure of groundwater in the
pore spaces of the aquifer and the aquitard supports some of the weight of the
overlying sediments. When groundwater is removed from aquifers by excessive
pumping, pore pressures in the aquifer drop and compression of the aquifer may
occur. This compression may be partially recoverable if pressures rebound, but
much of it is not. When the aquifer gets compressed it may cause land subsidence,
a drop in the ground surface. The city of New Orleans, Louisiana, is actually
below sea level today, and its subsidence is partly caused by removal of
groundwater from the various aquifer/aquitard systems beneath it. In the first half
of the 20th century, the city of San Jose, California, dropped 13 feet from land
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subsidence caused by overpumping; this subsidence has been halted with
improved groundwater management.

Seawater intrusion

Generally, in very humid or undeveloped regions, the shape of the water table
mimics the slope of the surface. The recharge zone of an aquifer near the seacoast
is likely to be inland, often at considerable distance. In these coastal areas, a
lowered water table may induce sea water to reverse the flow toward the sea. Sea
water moving inland is called a saltwater intrusion. Alternatively, salt from
mineral beds may leach into the groundwater of its own accord.

Mining

Sometimes the water movement from the recharge zone to the place where
it is withdrawn may take centuries. When the usage of water is greater than the
recharge, it is referred to as mining water (the water is often called fossil water

because of its geologic age). Under those circumstances it is not a renewable
resource.

Pollution

Iron oxide staining caused by reticulation from an unconfined aquifer in karst
topography (Perth, Western Australia).

Not all groundwater problems are caused by over-extraction. Pollutants
released to the ground can work their way down into groundwater. Movement of
water and dispersion within the aquifer spreads the pollutant over a wider area,
which can then intersect with groundwater wells or find their way back into
surface water, making the water supplies unsafe. The interaction of groundwater
contamination with surface waters is analyzed by use of hydrology transport
models.

IV. IlocraBTe NMUCHMOBO II’SITh 3aIIUTAHD /10 TEKCTY Yy BUIJIS/AI IUIAHY.

V. Ilepenumith Ta NHCHMOBO NepeKJIaAiTh HA YKPaiHCbKY MOBY
HABeJeHI HMKYe Ppe4YeHHsl, 3BEePTAOYM YyBary Ha Te, IO
00’€eKTUBHUI Ta Cy0’€eKTUBHMH IHQIHITUBHI 3BOPOTH BiANIOBIIAI0TH
TOIAaTKOBUM PEYEHHSIM:
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8.

9.

We know the earth’s crust to be constantly changing.

The air is known to extend about 200 miles above the earth.

Greater solar activity seems to produce lower earth temperature.

Moulten and Chamberlin believed the earth and other planets to have come
originally from the sun.

Heat and cold are believed to be distributed by ocean currents over
thousand of miles.

Acid rains are known to be caused by a high level of air pollution by sulphur
dioxide.

This vessel is known to cover an area with a system of evenly spaced
sounding lines.

We suppose the final scale of any chart to depend upon the observations.
Our correspondent reports the situation to be now under control.

10.The engineer expected the work to be done in time.

VI.

IlepenuumiTe Ta NHUCHBMOBO MNEPEKJALITH HA YKPAIHCBKY MOBY
HABeIeHI HU)KYE PeYeHHs, 3BEPTA0YU yBary Ha BIAMIHHICTBL Yy
MepeKJadi 3aJIeKHOT0 TAa HE3AJIEKHOI0 JIENPHUKMETHHKOBHUX
3BOPOTIB:

The moving wall of ice changes everything in its path.

Having undergone several transformation in recent geologic time the
Caspian Sea now forms three sections.

Weather permitting, we shall walk to the Lakes.

Only the first choice was hard to make, the rest of choices causing no
causing.

Situated on a narrow strip of land between the mountains and the sea, Rio
de Janeiro has one of the world’s finest harbours.

The data being sent by the sputnik are compared with the data being
collected by ground observers.

The density of surface water having been increased by cooling and
evaporation, a mass of surface water sinks until it meets water of the same
density.

VIl. IlocraBre aieciioBa y aykKax y HeoOXigHOMY 4aci, MHCbLMOBO

NepeKJIaAiTh YMOBHI peYeHHs:

1. If the hydrologists (to use) the necessary devices, the water measurements

would be correct.
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If the operator’s cabin had been equipped with remote control, he (to be
able) to work faster.

If | meet you tomorrow, | (to tell) you everything.

They can (to call) on us, if they like.

She would ring him up at once, if I (to know) his number.

He wouldn’t be late, if everything (to be) all right.

VIII. Ilepenumith Ta NHCHLMOBO NepekJIaiTh HAa YKpPaiHCbKY MOBY

HABeJeHI HUJKYe PeYeHHs, 3BePTA0YH YBary Ha pi3Hi 3HAYeHHS
aiecaiB should, would:

People all over the world should combine efforts to solve the serious
problem of environment protection.

After reading a new technical article you would write an abstract.

If there were no atmosphere, there would be no clouds, no rain.

The emission of the gases into the atmosphere should be monitored
carefully.

The scientists confirmed that the wastewater would contain carcinogenic
aromatic hydrocarbon compounds.

Many of the modern achievements in various fields of science would be
quite impossible without computers.

You should use all the new equipment for your experiments.

Iepenuiuith Ta NMUCHBMOBO MEPEKJIAMITH HA YKPAIHCbKY MOBY
HaBe/JleHi HMKYe PeYeHHs, 3BePTAKYH YBAry Ha Te, 0 iHQiHITUBHI
Ta JAiENPUKMETHHKOBI 3BOPOTH HaWyacTilie BIiIANOBIZAOTH
TOIATKOBUM PEeYEHHSIM:

Methods to be used in organizing precipitation data in preparation for
analysis are necessarily dependent on the data themselves and the purposes
to be served.

Water being a good insulator, prevents the conduction of much heat to any
great depth.

The rain as it falls, evaporates somewhat adding water particles to the cold
air.

Evaporation form sea water is about 5 per cent less than from fresh water,
other conditions being the same.

To ensure uniform water temperature, the liquid should be stirred.
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6. Having great areas the oceans are principal sources of the atmospheric
water.

7. Precipitation appears to increase with altitude up to 3,000 feet and then to
decrease.

8. The scientists believe the total quantity of water on and around the earth to
have been more or less uniform throughout geologic time.

X. IlepenumuiTh Ta NMUCHBMOBO MEPEKJIANITH HA YKPAIHCBKY MOBY
HaBeJeHI HUXKYe PeYeHHs, 3BePTAYH yBary Ha pi3Hi 3HAYEHHS
BU/IIJICHUX CJIiB:

1. Precipitation falling to the earth’s surface is either retained where it falls,
or finds its way into the surface-channel system of the basin.

2. As rain continues, the soil surface covers with a film of water.

3. Both the rate of melting of snow and the intensity of rainfall are the factors,
which affect the fluctuation of rivers.

4. The action of groundwater is controlled by the physical properties of the
rocks as well.

5. As the heat, causing the flow in the fine sand is about ten times as great as
that causing flow in the coarse sand.

6. The rate of melting of snow and the intensity is due to the factors, which
affect the fluctuation of rivers directly.

XI. TIepexaanits 10 THC. 3H. CYyCNIIBHO - MOJITUYHOIO TEKCTY.
XIl. Mepexaanits 10 THC. 3H. TeKCTY 32 (PAXOBOI0 TEMATHKOIO.

BAPIAHT Ne 4

l. 3po0iTh NMCHbMOBHII MEPEKIAT TEKCTY:

Text GROUNDWATER

Groundwater is water located beneath the ground surface in soil pore spaces
and in the fractures of lithologic formations. A unit of rock or an unconsolidated
deposit is called an aquifer when it can yield a usable quantity of water. The depth
at which soil pore spaces or fractures and voids in rock become completely
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saturated with water is called the water table. Groundwater is recharged from, and
eventually flows to, the surface naturally; natural discharge often occurs at springs
and seeps, and can form oases or wetlands. Groundwater is also often withdrawn
for agricultural, municipal and industrial use by constructing and operating
extraction wells. The study of the distribution and movement of groundwater is
hydrogeology, also called groundwater hydrology.

Typically, groundwater is thought of as liquid water flowing through shallow
aquifers, but technically it can also include soil moisture, permafrost (frozen soil),
immobile water in very low permeability bedrock, and deep geothermal or oil
formation water. Groundwater is hypothesized to provide lubrication that can
possibly influence the movement of faults. It is likely that much of the Earth’s
subsurface contains some water, which may be mixed with other fluids in some
instances. Groundwater may not be confined only to the Earth. The formation of
some of the landforms observed on Mars may have been influenced by
groundwater. These is also evidence that liquid water may also exist in the
subsurface of Jupiter’s moon Europa.

An aquifer is a layer of relatively porous substrate that contains and transmits
groundwater. When water can flow directly between the surface and the saturated
zone of an aquifer, the aquifer is unconfined. The deeper parts of unconfined
aquifers are usually more saturated with groundwater since gravity causes water
to flow downward.

The upper level of this saturated layer of an unconfined aquifer is called the
water table or phreatic surface. Below the water table, where generally all pore
spaces are saturated with water is the phreatic zone.

Substrate with relatively low porosity that permits limited transmission of
groundwater is known as an aquitard. An aquiclude is a substrate with porosity
that is so low it is virtually impermeable to groundwater.

1. JlaiiTe nMmcbMOBY BiINOBiAb HA TaKi 3aIIUTAHHSA:
1. What is groundwater ?
2. What is groundwater withdrawn for ?
3. What can groundwater technically include ?

4. What is an aquifer ?
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I11.  3pobiTs nMcbMOBMII EpeKJIa] TEKCTY:

Text INFILTRATION CALCULATION METHODS

Robert E. Horton (1933) suggested that infiltration capacity rapidly
declines during the early part of a storm and then towards an approximately
constant value after a couple of hours for the remainder of the event. Previously
infiltrated water fills the available storage spaces and reduces the capillary forces
drawing water into the pores. Clay particles in the soil may swell as they become
wet and thereby reduce the size of the pores. In areas where the ground is not
protected by a layer of forest litter, raindrops can detach soil particles from the
surface and wash fine particles into surface pores where they can impede the
infiltration process.

Wastewater collection systems consist of a set of lines, junctions and lift
stations to convey sewage to a wastewater treatment plant. When these lines are
compromised by rupture, cracking or tree root invasion, infiltration of stormwater
often occurs. This circumstance often leads to a sanitary sewer overflow, or
discharge of untreated sewage to the environment.

Infiltration is a component of the general mass balance hydrologic budget.
There are several ways to estimate the volume and/or the rate of infiltration of
water onto a soil. Three excellent estimation methods are the Green-Ampt
method, SCS method, Horton’s method, and Darcy’s law.

The general hydrologic budget, with all the components, with respect to
infiltration F. Given all the other variables and infiltration is the only unknown,
simple algebra solves the infiltration question.

F=BI+P-E-T—-ET-S—-R—-1A—-BO,

where

* F is infiltration, which can be measured as a volume or length ;

« BI is the boundary input, which is essentially the output watershed from
adjacent, directly connected impervious areas;

» P is precipitation ;

« Eisevaporation ;

« ET is evapotranspiration ;

« S isthe storage through either retention or detention areas;
» R issurface runoff;
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* |A is the initial abstraction, which is the short term surface storage
such as puddles or even possibly detention ponds depending on size

« BO s the boundary output, which is also related to surface runoff, R,
depending on where one chooses to define the exit point or points for
the boundary output.

The only note on this method is one must be wise about which variables to

use and which to omit, for doubles can easily be encountered. An easy example
of double counting variables is when the evaporation, E, and the transpiration, T,
are placed in the equation as well as the evapotranspiration, ET. ET has included
init T as well as a portion of E.

IV. TlocraBTe nMCbMOBO II’ATH 3aNMTAHB J0 TEKCTY Y BUIJISI IJIAHY.

V.

B~ w
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VI.

1.

IlepenuiuiTh Ta NUCHMOBO IEPEKIAMITH HA YKPAIHCbKY MOBY
HaBeJeHI HM)KYe pedYeHHs, 3BePTAYHM YBAry Ha Te, MLIO
00’€KTUBHUM Ta cy0’€KTUBHUI iHQIHITUBHI 3BOPOTH BIANOBIAI0TH
NO0JATKOBUM PEYCHHSAM:

Some of the water precipitated on all land surfaces is assumed to come from
local sources.

The scientists believe the total quantity of water on and around the earth to
have been more or less uniform throughout geologic time.

We thought these figures to be absolutely wrong.

When the air contains all the water vapour it can possibly hold at a given
temperature the air is said to be saturated.

He doesn’t want anyone to know the depth of the river.

They are supposed to have been working at the problem for two months.
We know the earth’s crust to be constantly changing.

Cyclonic precipitation is said to move from high-pressure regions to
lowpressure regions.

IepenuiiTh Ta NUCHbMOBO MNEPEKJIAAITH HA YKPAIHCBKY MOBY
HABeJICHI HU)KYE PeYeHHs, 3BePTAYH YBary Ha BIAMIHHICTBb Yy
NMepeKJaal 3aJIe)KHOr0 Ta HE3AJIeKHOr0 JIENPUKMETHHKOBHX
3BOPOTIB:

The water having been precipitated to the earth, part of it enters the ground.
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The velocity of flowing water depends on the slope and character of its
channel.

Having reached the earth, the precipitated water begins to accumulate
additional impurities.

The laboratory being provided with necessary instruments, they could carry
out the work successfully.

With the weather being windy, we did not risk to cross the river.

Fog is water evenly distributed through air in minute particles.
Evaporation from the sea water is about 5% less than from fresh water,
other conditions being the same.

VIl. IlocraBre aieciioBa y AyKKax y HeoOXiHOMY 4aci, mMMCbMOBO

NepeKyIaliTh YMOBHI peYeHHS:

You will get good results if you (to apply) this method of calculation.

If they found the exact meaning of these words, they (to understand) the
text easily.

Most rivers would have dried, if they (to depend) only on precipitation.
The results of the experiment (to be) much better if we had used the new
equipment.

If the wind is favourable, the ship (to reach) the port.

Were the vapour cooled below its dew point, some of it (to become) liquid.

VIII. Ilepenumith Ta NUCHMOBO NepPeKJIANiTh HA YKPAiHCbKY MOBY

N

o

HaBeJeHI HUXKYe PeYeHHs, 3BePTAKYH yBary Ha pi3Hi 3HAYEHHS
miecais should, would :
You should follow all the important scientific researches in your field.
When the ice vanished, the lakes would gradually drain away.

. The expected climatic change would sharp the problems of drought,

deforestation and soil erosion.

The emission of the gases into the atmosphere should be monitored
carefully.

It is required that modern machines should meet high standards of quality.
The attention should be paid to large-area pollution.

Further tests would be made to determine the possibility of using the new
method.

IX. IlepenuuiTh Ta NHMCbMOBO MNEPEKJIANITH HA YKPAIHCBKY MOBY

HaBeJ/leHi HUK4Ye PeYeHHs, 3BePTaloyu YBary Ha Te, 1o iHQiniTuBHi
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XI.

Ta JIENPUKMETHUKOBI 3BOPOTH HaidyacTille BiANoBiIaIOTH
A0IATKOBUM PEeYeHHSIM:

Having reached the earth, the precipitated water begins to accumulate
additional impurities, both soluble and insoluble.

His task is to take observations of the water quality in this lake.

The total amount of water in and on the earth is believed to remain
essentially constant.

When freezing water expands by about one-tenth of its volume.

Fog is water evenly distributed through air in minute particles.

The density of surface having been increases by cooling and evaporation, a
mass of surface sinks until it meets water of the same density.

When the air contains all the water vapour it can possibly hold at a given
temperature the air is said to be saturated.

With the weather being windy, we didn’t risk to cross the river.

IepenuiuiTh Ta NMUCHBMOBO MEPEKIAMITH HA YKPAIHCbKY MOBY
HABeJCHI HUKYE PeYeHHs, 3BePTA0YU YyBary Ha pi3Hi 3HAYeHHSH
BU/IIJIEHHUX CJiB:

The amount of evaporation from either land or water surface during a storm
is negligible because of high relative humidity.

Snow as it falls varies greatly in its water contain.

Provided the ground was saturated with water, there could be no further
infiltration.

Both swamps and shallow lakes have been drained in order that the
reclaimed areas may be used for agriculture.

In nature, flow media are neither homogeneous nor isotropic.

The conservation of groundwater is very important because it moves very
slowly.

An artesian acquifer exists due to artesian condition.

IHepexaaaits 10 THC. 3H. CYCNUIBHO - MOJITUYHOT0 TEKCTY.

XIl. Mepexknaaits 10 THC. 3H. TeKCTY 32 (PAXOBOI0 TEMATHKOIO.
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